Lecture 10

Basic Types of Clause Structure
In making up a one-clause sentence in English, we have a choice of five basic clause
structure types in which all the elements are necessary.
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These basic types can be expanded with other optional elements like adjuncts and
modifiers.
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Each of these five types follows the basic pattern:
Subject (NP) + Predicate (VP).
Subject (NP) + Predicate (VP) = (ssbu) Jaaill aiii dsadll &1 5391 o34 aran
OIS sl il o o M dlad o jlae + dzand B le M sa s S
Gl 4s Jsnia o) AalSS ) 4ulad de sann ) 5S5 (Sase= Predicate

In each type, the subject will normally come first and is the followed by a **verb
phrase™.
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Only the composition of the VP changes in each type.

Lopi Y deldl = delills jle 0 SShadh g il

The VP may contain the following elements:

A ealial) e (5 i3 () Sy Aladl) 5 5Lal)
1- Intransitive Verb (abbreviated as Vi) - ( aJ¥ Jad- Vi)= 4 Jgda G50
2- Transitive Verb (abbreviated as Vt) — gia Jaé Vt f
\ Ditransitive 4l s\ Monotranstive g2 =

3- BE or another Copula — &l Jladl g 3asbuall Jdd)

& _isam are were
"l sl dseial 5 dla sl ddiay Jelil) day i1 saclue JadY) = day ) Lgand (e day )l Jladl
Ja=here Jad=js Jeli=He
4- Complement (abbreviated as C), which includes: - C sy W jlaii) aly 4lagil)
a- Noun Phrase (abbreviated as NP) - (AaSill £1 53 3 £ 55) = NP daan! 5 5Ll
b- Adjective Phrase (abbreviated as Adj)- Adj 4w 5 s
c- Adverbial (abbreviated as Adv)- Adv < xa 5 s

5- Direct Object (abbreviated as dO) - (dO-_dilwall J g2iall)

6- Indirect Object (abbreviated as i0) — (i0- s&la il J g2iall)




The following table shows the five basic types of clause structure in English:
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Type Structure of VP

Examples

1

ao¥ J2é + Jeld = 5, We waited.

Jasa ddduag g iy + 2 )Y J=d + Jeld = b, We sat down.

alaSa)ran 3 )lie+aclue J2d + Jeld =3, He was my friend.

(J2dll 5 Jelall

Jelill aleSa) asatac e J28 + Jeld =p, He was intelligent.
(Jadll

Jelall 4leSa) ya 5 betaclue J2d + Jeld =c. He was in my class.

(Jsill

a.

b. C (Adv)

il 4y 4 grdatgamia Jad + Jeld =3, | made a mistake.

Jyrdat garic st Jeli=h . | put the key in the lock.
bl + pdla

Vt +i0 +dO
a. (to)

b. (for)

+pile e Jsade +gaeie i +deld=5 | ggve him an answer.
s J ks

il pe Jgrie + (gaaia Jad + Jeld=h. He made me a suit.
Sl J grdat

Vt +dO +C
a. NP

b. Adj

5 obe + pdilaal gria + (gaeio (fed+ Jeli=3, | found him a bore.

5ol + bl gria + (gaeio (fd+ Jeld =h, | found him boring.
(AL5) 2

< As we mentioned at the beginning of the lecture, each of these t
ypes can be expanded with optional elements like adjunct and modifiers.
Vsl g al il i A HLal yealic Ao s Liea 58 Sy £ 5301 038 (e & 53 US| B pualaall dglay & LB LS

For example,

we can expand the first sentence in Type 1 as follows:

(s g sl g V) Aead) G 5 e

We waited. (Type 1)- we waited = Js¥! g sl
We waited in the car. (Type 1 + Adjunct) _
. A Gl Al oda (1 adlals dlaal) Cirn g 5 = i+ J5¥) ¢ 5l = We waited in the car




Simple sentences have only one clause. They can be expanded even more by combining
them with other clauses as we will see when we discuss compound and complex
sentences.
s 8ae Jan (0 5S5 2 5 a0 Ol Leday n deal) a8 Sy, Jal aal 5 558 =5 5le o (g st danall dleal)
o AS e

#Be careful not to confuse these five types of basic clause structure with the five types

of complex verbal groups that we discussed in Lecture 5.
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For example
the verb “tell” can fit into basic type 3, as seen in the first example below; and it can

also fit into basic type 4, as seen in the second example below.
A JEAS a1 ) o il iy Ll Sans L s JUally Laadl e S, Callil) V) g i) canlsy telldadll

e.g. 1. He told the truth. (Type 3)
Jsriall galal saria Jai€ " told" Jadll ela | U g 53l =He told the truth

Al Js2i = the truth / g Jad = told / Jelé = He

e.g. 2. He told me the truth. (Type 4)
. gaia Jal " told" dadll els | &l )l £ 5l =He told me the truth

e J 280 = the truth / 28w e Jsade = Me [ g2ie J2d = told / Jeld = He

On the other hand, the verb “explain” can only fit into basic type 3, but not basic type4.
rdlie 1 a1 el g il iy L S0 AN il g il iy explain Jadll L

For example:
e.g. 1. He explained the answer. (Type 3)
.. &l ¢ sl = He explained the answer

il J 928 = the answer / g J2é = explained / Jel = He

e.g. 2. INCORRECT: He explained me the answer. (Type 4 is not
possible with the verb “explain”) ‘
il e 5 pilae Gl srdae Led (55S) adiy La L3 L mal )l g sdll) Led andlin adila

Variations of Basic Clause Structure Types - &aall &uulul) sUdl) £ oY <) il
Common Variations of Basic Clause Structure Types

1- In type 1, “there” can be used as an introductory subject.
S+ Vi = (emlad) Alaal) (S 55 1 Je S aaaiui 4dS J ¥ & sl L8 there 4alS
e.g.
Three exceptions exist. (Type 1)
"o Jsde zUsy Y " gaxie e Jad= Exist / Jelé = Three exceptions




There are three exceptions. (Variation of type 1 using introductory “there”)

The pattern in this example is: There +BE + Subject
alis lxte = three exceptions / aclus J=ié = are / itk Ixis = There

There +BE + Subject : Juall 131 " & 50 " sl

2- “There” can also be used as an introductory subject in a variation of type 2.
Sl & gl 8 A Jeli" aniie ofaineS Layl aadind ol (Say There 4alS

e.g.
Some books are on the shelf. (Type 2)

L 4leSa (o8 5" H5me 5)la " s = on the shelf / 22l J28 = gre / Jel=Some books
(S+BE +C) : g5l 13 ol
There are some books on the shelf. (Variation of type 2 using introductory “there”)
alis = some books / 2lus J28 = gre / "adiie Jeli" adiis lxine = There
La dleSe 25" )5 0me sola " Ja = on the shelf

3- Type 2¢, can be reversed when the adverb is “here’ or “there”.
theresl here .. Jall Q13 "Jladl dae Jeldll” 5 "deldll Jae Jall "daas ¢Sy

e.g.
Mohammed is here. (Type 2c¢)
Here is Mohammed. (Variation of type 2c)

. ASe a5 s = here [ sl dad =ijs /" Jeld " 1xie =Mohammed

AL 5 Ja 058 O oS 5 S+ BE+C (S s Lia el sl

There are other variations that we will not discuss here.

alie I3 = Mohammed / aclus J28 =js /[ i lxie =Here

By: Reema501d & Suzy




